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  Read the following text carefully, and then in your ANSWER BOOKLET answer all the questions that follow. Your answers should be based on the text.
     When large numbers of people move from their homes in country areas to find better- paid jobs in towns and cities, the villages and farms they once lived in are often left empty. No one wants to buy homes there because they cannot make money out of them. This phenomenon, which is called rural depopulation, can lead to overcrowding in cities as well as for fewer people in country areas. 
     One example of this phenomenon is the Garrigues area of Spain, about one hour’s drive from Barcelona. The area has a Mediterranean climate, but because it is high and not close to the sea, winter temperatures are quite low. The area has an annual rainfall level of 482mm which falls in only 47 days of the year, during the autumn and spring. Historically, this was a successful agricultural area; on the higher ground, the farmers grew almonds and vines, while in the river valleys they grew wheat, corn, beans and sunflowers were the traditional crops. The area was particularly well-known for its high- quality olive oil which was grown mainly for export. 
      The population of the area was at its highest about 150 years ago, when a typical village might have 500 inhabitants, whereas now some villages have as few as 100 permanent inhabitants. But as farming became less and less profitable, and unemployment grew, the population began to move to the cities to find work. This trend started in 1860 and has continued to this day. Now some villages consist mainly of elderly people. The area is suffering from the effects of depopulation, such as poor public services and deserted farms. 
A-Question Number One (20 POINTS )
1.   Two reasons made the people of Garrigues move to the city to find work. Write down these reasons.                                                                                          (4 points )
2. Winter temperatures in The Garrigues area are quite low for two reasons. Write down these two reasons.                                                                                   (2 points)
3. Write down the sentence which indicates that people wouldn’t like to buy homes in country areas because it is not profitable.                                                         (3 points)
4. Find a word in the third paragraph which means” empty because people have left”.                                                                                                                 (2 points)                                                                            
5. What does the underlined pronoun  "they" in the second paragraph refer to.

                                                                                                                         (2 points) 
6. Rural depopulation has many negative effects. Write down two of these effects.

                                                                                                                         (2 points)
B. Critical thinking  ( 5 points )
1. An action must be made from the part of the government to reduce the movement from the village to the city. Think of this statement and , in two sentences , write down your point of view .                                                                              (2 points)
2. According to the text, the writer states that people leave the country because of unemployment. Explain this statement, suggesting three ways to fight unemployment in the countryside.                                                                                 (3 points)                                                                                        
Question Number Two:(15 POINTS)

A-Choose the suitable item from those given to complete each of the following sentences, then write your answer down in your ANSWER BOOKLET. 
                                                                                                                 ( 8 points )


1. I ……………… many experiments on people who complain of sleeplessness.
2. Can you hear that………… noise? Someone must have left a tap on.

3. Motorists can easily fall asleep in tunnels because there is nothing to keep them …………… .
         4. There are lots of shops in our city. You can …………and choose from about twenty.
B- Study the following sentence carefully and then answer the question that follows, then write your answer down in your ANSWER BOOKLET.(3points)                                                         
  What does the underlined phrasal verb come up in the following sentence mean?
  When I was talking to my brother yesterday, your name came up several times.
C- Fill in spaces with the correct word derived from the words given in the box and then write your answer down in your ANSWER BOOKLET.  (4points)
	build,      archaeology,      natural


1. I’d like to live in a small………………… village near the sea.  
2. The Gulf of Aqaba is an area of great ……………… . 
Question Number Three (8 POINTS)

A- Correct the verb between brackets, then write your answer down in your ANSWER BOOKLET.                                                                      (4points)                                                                                                                                 
1. Are they going to build their own house next year or they are going to have their old one ……….?                                                                                    (rebuild)
2. They finished making Laila’s dress a week before the wedding. They had……… it for over a month.                                                                                         ( be/make ) 
B. Join the following pairs of sentences using the linking words between brackets, then write your answer down in your ANSWER BOOKLET.      (4points)
	but,  instead of,    and although 


1. You have to stop in a station. Train journeys are fast and comfortable.
	 although,  whereas,   instead of      


2. Others migrate to find food. Some animals migrate for more temperate weather. 
QUESTION NUMBER FOUR (12 POINTS)

A- Complete each of the following items so that the new item has a similar meaning to the one before it, then write your answer down in your ANSWER BOOKLET.                                                            (6points)

 1. “Do you spend much of your time in the library, Hasan?”
        Noor asked Hasan……………………………………………

“We are taking our children on holiday next month”.   2.
       The parents said  ………………………………………………..
 3.  The government could have constructed the new airport by 2010.

The new airport..............................................................................
B- Study the following sentence carefully and answer the question that follows.                                                      (3points)
     Ahmad had his house built last year by a local builder.
*What is the function of using causative according to the above example?
Question Number Five: (15 POINTS)

A. EDITING. (4points)
   Imagine you are an editor in the Jordan Times, you are asked to edit the following paragraph that has four mistakes. Correct the mistakes and write them in your ANSWER BOOKLET.


B. GUIDED WRITING. (4points)

 Read the information in the table below then write two sentences about ' The 

 benefits of mosaics '. Use the appropriate linking words such as : and, moreover,
 but ... etc. 
	 benefits of ancient mosaics

	-  give us information about the way people lived at the time 

-  tell us about  old kings  

- illustrate  ancient maps and pictures of local events 
- attract tourism




C. Free Writing. (7points)

1. Driving is a matter of art, taste and morals. Write an article about how to be a good driver, suggesting some ways for the drivers to be successful.
Good luck
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drip ,   awake ,    administrative,  did   ,  pick 





steve Fossett travelled by a hot air balloon which used helum and hot air. To keep it at konstant oltitude the balloon used a sophisticated autopilot system controlled by a computer.
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